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11.2 Potential and Actual Output
· Capital Stock = natural and man made resources
· Labor force = that part of the population willing to work 
· National Output = Capital Stock + Labor
· Average living standards don’t take into account distributions of wealth
· Purchasing Power Parity (PPP) allows the comparing of countries national output by comparing the cost of a basket of goods 
· If part of the capital stock (e.g. factories) and part of the labor force is idle then the national output will be less than its potential

11.2.1 Potential Output
· Potential output is not static, it normally grows due to the 
· growth in the quality and quantity of labour
· growth in the quality and quantity of capital stock
· technological advances
· Often a country will devote some of this years national output to the production of capital goods for next year, thus increasing next years national output

11.2.2 Actual Output
· The actual output of an economy is known as the Gross National Product (GNP)
· GNP is the value of all final goods and services produced in the economy in a year
GNP = apa + bpb + cpc + ... p
   where p = price of that goods or service and a,b,c… is the quantity
· Households give resources (labour) to firms and in return receive an income (Gross National Income=GNI)
· They then buy (Gross National Expenditure GNE) goods and services (GNP) from these firms
· GNI=GNE=GNP
· Firms can only produce either consumer goods (C) or capital goods (I, or investments)
· GNP = C + I
· Similarly GNI = C + S (Savings)
· If GNP = GNI then the amount saved by households must equal the invested in capital stock
· If the demand for consumer goods is less than the amount which have been produced then firms will cut production  = a reduction in GNP
· GNP will stop falling when demand exceeds supply

11.3 The demand for GNP
· GNP is purchased by
· consumers
· firms 
· government
· international (consumers, firms and government)
· The sum of the expenditure by these four groups is called aggregate demand
· Since govt policy can effect expenditure in all 4, it can effect aggregate demand but keeping aggregate demand at a desired level is difficult because:
· there is a time lag before govt policies have an effect
· households and firms expenditure is unpredictable
· External effects (e.g.worldwide  recession) are also unpredictable
· GNP = Y = C + I + G (govt expenditure) + X (imports) – Z (exports)


11.4 Policy Tools
· Fiscal policy involves the control of government expenditure and tax rates
· Monetary policy involves the control over the supply of money
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· In the figure above, actual output = potential output (Y3= Q) at aggregate demand D3, and at this point there is full employmentE3
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· Aggregate demand less than D3 causes an output  or unemployment gap, above D3 causes an inflationary gap as prices rise due to excess demand
· Y is a straight line after Y3 as that is the maximum potential output
· This potential output (Q) will grow year after year (see 11.2.1) so aggregate demand must be increased if we are to keep actual output = potential output
· Govt can expand aggregate demand by
· increasing govt expenditure 
· reducing tax rates (increasing disposable income for consumers)
· increasing the money supply (more money = lower cost of money = lower interest rates = more loans = more spending)
· The ratio of the total change in Y to the initial change in G is called the government expenditure multiplier
· Macroeconomic goals include:
· low inflation rate
· low unemployment rates
· a balanced government budget
· a positive balance of trade
· a stable currency in international exchange rates
· In the real world, at full employment the rate of inflation is positive – to have zero inflation may require a certain level of unemployment

